
Name: _________________    Mental Arithmetic: 20 mins  (Time taken: ______)    Score: __ out of 27 
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£315	−	£72.93	=	
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491,890-	33,	306	=	

	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	

	

𝟒
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350cm	–	2.8m	=	
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Half	of	782	
	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	

	

£90	−	£3.04	=	

	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	
	



8604	÷	3	=	

	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	

	

		15%	of	630ml	
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£9.02	×	8	=		

	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	

	

3,647mm	+	38,015mm	=		

	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	

	

10%	of	4,250	=	

	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	

	

	3		of	16	=	
	4	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	

	

389.89	
	
_________hundreds	

_________	tens	

_________	units	

_________tenths	

_________hundredths	

50,000	÷	1000	=	

	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	

	

9273	+	1	thousand	=	

	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	

	

0.04	×	10	=		

	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	
	 	 	 	 	 	

	

Match	the	decimal	to	the	
fraction	
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!""

	

(1	mark	for	all)	
	

 

 If	 you	 managed	 to	 complete	 this	 in	 less	 than	 15	 minutes,	 why	 don’t	 you	 try	 one	 of	 the	 challenges	 on	 the	
following	website.	Bring	it	in	on	a	piece	of	paper	and	show	us	what	you	managed	to	do.	Good	luck!	

https://nrich.maths.org/8495	

	


